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1. Use the Gelosia grid to work out 53× 26
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2. Use the Gelosia grid to work out 74× 13
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74× 13 = ..................................

3. Use the Gelosia grid to work out 754× 53
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754× 53 = ..................................
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4. Use the Gelosia grid to work out 812× 55
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812× 55 = ..................................
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5. Use the Gelosia grid to work out 36× 24
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36× 24 = ..................................

6. Use the Gelosia grid to work out 155× 32
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155× 32 = ..................................

Answers Q1: 1 378, Q2: 962, Q3: 39 962, Q4: 44 660, Q5: 864 Q6: 4 960
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